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Vertical Division Name:
Solve each problem. Answers
1) 2) 3)
1
201169 50650 801274
2.
3.
4,
5.
4) 5) 6)
6.
10|980 70(280 900|216
7.
8.
9.
10.
7) 8) 9)
11.
70(1143 90548 40900
12.
10) 11) 12)
701840 N0|775 60540
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Vertical Division

Name:

Answer Key

Solve each problem.

1) 8r9

20[169
0
16
0
169
160
9

4) 08

10980

0
98
90
80
80

0
7) 213

70[143

0
14
0
143
140
3

10) 12
70840
0

84

70
140
140
0

2) 13

50(650

Y
65
50
150
150

0
5) 4

70[280

0
28
0
280
280
0

8) 618

90[548

0
54
0
548
540
8

11) 8155

90[775
0
77
0
775
720
55

3) 3r34

80[274

27

274
240
34

6) 2136

90[216

21

216
180
36

9 22120

40[900

90

80

100
80
20

12) 9

60(540

54

540
540

Answers
1 8r9
2. 13
3 3r34
4 08
5 4
6. 2136
7. 213
8. 6r8
9. 22120
10, 12
1. 8rd5
12, 9
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# Vertical Division

Name:
Solve each problem. Answers
3r34 4 8r9
22 r20 13 6r8 1.
98 2 r36 2r3
2.
1) 2) 3)

20[169 50(650

4) 5)

10980 70[280

7) 8)

70143 90[548

80[274 3

6)

90[216 J

9)

40[900

M odified
[ M ath ] www.CommonCoreSheets.com

1-9 |89]|78]67[56]44[33[22[11] 0 |




	Worksheet
	Answer Key
	Modified Worksheet

